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As we noted earlier, the present indicative (/af) is one
of several “tenses” (really tense-moods).

It is present because it generally refers to an action
taking place in the present time. It is indicative because
(in contrast to the imperative and optative) it refers to an
action as actually happening.
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English has several “present indicative” tenses:

« He walks. (Simple/habitual present)

« He is walking. (Progressive/continous present)

« He has been walking. (Continuous perfect present)

Sanskrit is easy, and has just one:

* =B (gacchati)
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#VERB CLASSES

We'll start with the four thematic verb classes. These
are the classes that form the active voice of the present
stem with a suffix that ends in a, the thematic vowel.

Active voice means that the verb refers to the agent of
the action, rather than the patient (as it does in passive
voice). (The passive is expressed with a completely

different present stem.) IIaksE

sanskrit at uchicago




bhvadi \bhi bhavati “he becomes”

2 adadi ad atti “he eats”
3 juhdtyadi  Vhu juhoti “he offers”
4 divadi Vdiv divyati “he gambles”
5 svadi Vsu sundti “he presses”
6 tudadi Vtud tudati “he strikes”
7 rudhadi ~ rudh runaddhi “he blocks”
8 tanadi Vtan tanoti “he stretches”
9 kryadi Vkr krinati “he buys”
10 curadi eur corayati “he steals”
The ten classes (dasagani): thematic classes lli@i "
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1. bhvadi

vbhav + a

“become”
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1. bhvadi

bhava-

“become”
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6. tudadi

tuda-

“hit”
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Note that certain roots in this class (Nmuc, Vlup, Vvid,
Vlip, Vsic, Vkrt, Vkhid, Vpi$) insert a n between the vowel
and final consonant of the root:

vmuc + &

Hfreeﬂ
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Note that certain roots in this class (Nmuc, Vlup, Vvid,
Vlip, Vsic, Vkrt, Vkhid, Vpi$) insert a n between the vowel
and final consonant of the root:

vmuc + &
>

Hfreeﬂ
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Note that certain roots in this class (Nmuc, Vlup, Vvid,
Vlip, Vsic, Vkrt, Vkhid, Vpi$) insert a n between the vowel
and final consonant of the root:

vmunc + &
>w

Hfreeﬂ
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Note that certain roots in this class (Nmuc, Vlup, Vvid,
Vlip, Vsic, Vkrt, Vkhid, Vpi$) insert a n between the vowel
and final consonant of the root:

vmuic + &
>w

Hfreeﬂ
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4. divadi

(optional lengthening)

' »
vdiv  + ya

“gamble”
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divya-

“gamble”
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10. curadi

veur + aya

“steal” technically a suffix NiC (i)
+ the vikaranah SaP (SaP
turns -i- into -é- through
gunah, and then into -ay-
through internal sandhi).
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+ aya
“steal”

veur

10. curadi
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10. curadi
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VCor

“steal”

strengthening: vrddhih if the root ends in a

N

+ aya

vowel or has a before a
single consonant;

gunah otherwise.
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10. curadi

coraya-

“steal”
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Recall the endings introduced in the last lecture:

sg. du. pl. sg. du. pl.
3° tiP tas jhi 3" ta atam jha
ond SiP thas tha ond  thads atham dhvam
15 miP vas mas 25 iT vahi  mahiN

parasmaipadém atmanépadam "g@: il
Q
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sg. du. pl.

3 tiP  tas ihi
ond siP thas tha

1o miP vas mas

parasmaipadam

We will focus on the parasmaipadam endings for now.

(We'll learn what the difference
between parasmaipadam and
atmanépadam is soon, but don't
worry about it for now.)
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Removing Panini’s technical markers, we get the
following endings:

sg. du. pl.

d
3 ti tas nti
ond Si thas tha
1 mi vas mas

parasmaipadam "3@3 "
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Let’s go further and change the final s to visargah (as
required by the pausa form):

sg. du. pl.

3" t tah nti
ond Si thah tha
1 mi vah mah

parasmaipadam "3@3 "
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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CONJUGATION
_, Now we can conjugate a Sanskrit verb in the present

indicative, in all persons and numbers:

sq. du. .
J P Note that the

thematic vowel is
lengthened before
all the first person

2" bhavasi bhavathah bhavatha endings!

E bhavami bhavavah bhavamah

parasmaipadam "g@i ”

sanskrit at uchicago
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti “He/shelit becomes”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti “They (du.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

3" bhavati bhavatah bhavanti “They (pl.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i "
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

3" bhavati bhavatah bhavanti “You (sg.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i "
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti “You (du.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti “You (pl.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

rd
3 bhavati bhavatah bhavanti “I become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i ”
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.
3" bhavati bhavatah bhavanti “We (du.) become”
2" bhavasi bhavathah bhavatha
15t bhavami bhavavah bhavamah

parasmaipadam llﬂ@i "
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Now we can conjugate a Sanskrit verb in the present
indicative, in all persons and numbers:

sg. du. pl.

3" bhavati  bhavatah  bhavanti “We (pl.) become”

2" bhavasi bhavathah bhavatha

E bhavami bhavavah bhavamah

parasmaipadam llﬂ@i "
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The exact same pattern of endings (with a different stem
of course) applies to the fourth (divadi) class:

sg. du. pl.

rd , o ”
3 divyati divyatah divyanti
2" divyasi divyathah divyatha

1 divyami divyavah divyamah

parasmaipadam llﬂ@i "
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And to the sixth (fudadi) class:

sg. du. pl.
3" tudati tudatah tudanti
2" tudasi tudathah tudatha
1 tudami tudavah tudamah

parasmaipadam "g@i ”
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And to the tenth (curad)) class:

sg. du. pl.
3% corayati corayatah  corayanti
2" corayasi corayathah  corayatha
E corayami corayavah  corayamah

parasmaipadam "3@3 "
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From now on, when you learn a verb, you'll learn the
root, its class (usually indicated by a number), whether
it is parasmaipadi, atmanépadi, or ubhayapadi, as well
as the third person singular of the present tense. (You
should be able to figure out the last part from the root,
class, and padam, but sometimes verbs have
idiosyncracies.)
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*+"# LEARNING VERBS
This is how verbs are usually listed in dictionaries:

TET 4 P, (&s7®,z37) 1 To sew,
duru,‘st.itclf together ; §a777: §rs4-

Apte’s Practical Sanskrit—-English Dictionary

(Note that he includes the Ktah form [past absolutive participle]).
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This is how verbs are usually listed in dictionaries:

q siv, cl. 4. P. (Dhatup. xxvi, 2) siv-

N yati (Ved, also °¢¢ ; pf. sisheva, Gr:'.; aor,
asevit, ib,; fut. .r.em':ci,‘ sevishyati, ib.; ind. p.
syfitva orsevitvd,ib. ; -sivya, AV .),to sew, sew on,
darn, stitch, stitch together, (fig.) join, unite, RV.

Monier Williams, Sanskrit—English Dictionary

(He includes several other verb forms.)
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# LEARNING VERBS
This is how verbs are usually listed in dictionaries:

Y siv, sy, ‘sew’.
Pres. [1.] sivyati ete. v. +, -te v.
[ Perf. ete. siseva; asigivat, asevit; sevigyati, sevita.|
Verb. sytitd v.+; syutva s.; -sivya Av.
Sec. Conj. : [ Int. ses1v-. — Desid. sisevisa-, susyusa-. — | Caus. | sevayati;|
sivayati c.

. < . -
Deriv. : syt ». seva B. sevitavya c. syuman v.u.
sivaka c. sevana B.+ stitra av.+ Syona ’ v.r.s.
sivya c. sivana B.+ suna v.e.s.

Whitney’'s Roots, Verb-Forms, and Primary
Derivatives of the Sanskrit Language
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